BTHTI0N SR A

¥pie e e Gy

et pide op amarica. inc) Fic-1-0644 fhr submitinl

INSTALLATION NOTES:

o~

o

L]

&

L

(-3

-

o

ONE (1) INSTALLATION ANCHOR IS REQUIRED AT EACH ANCHOR
LOCATION SHOWN.

THE NUMBER OF INSTALLATION ANCHORS DEPICTED |5 THE
MINIMUM NUMBER OF ANCHORS TO BE USED FOR PRODUCT
INSTALLATION,

INSTALL INDIVIDUAL INSTALLATION ANCHORS WITHIN A
TOLERANCE OF 1/2 INCH OF THE DEPICTED LOCATION IN THE
ANCHOR LAYOUT DETAIL (1E., WITHOUT CONSIDERATION OF
TOLERANCES), TOLERANCES ARE NOT CUMULATIVE FROM ONE
INSTALLATION ANCHOR TO THE NEXT,

FOR INSTALLATION TO 2X WOOD FRAMING USE 48 pPH WOOD
SCREW OF SUFFICIENT LENGTH TO ACHIEVE MINIMUM 1 1/2°
EMBEDMENT,

FOR INSTALLATION TO METAL STUD USE #8 SELF-TAPPING
SCREWS OF SUFFICIENT LENGTH TO ACHIEVE MINIMUM 3
THREADS PENETRATION BEYOND METAL STRUCTURE,

. MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDE WALL

FINISHES, INCLUDING BUT NOT LIMITED TO STUCCO, FOAM, BRICK
VENEER, AND SIDING.

. INSTALLATION ANCHORS AND ASSOCIATED HARDWARE MUST BE

MADE OF CORROSION RESISTANT MATERIAL OR HAVE A
CORROSION RESISTANT COATING.

INSTALLATION ANCHORS SHALL BE INSTALLED IN ACCORDANCE
WITH ANCHOR MANUFACTURER'S INSTALLATION INSTRUCTIONS,
AND ANCHORS SHALL NOT BE USED IN SUBSTRATES WITH
STRENGTHS LESS THAN THE MINIMUM STRENGTH SPECIFIED BY
THE ANCHOR MANUFACTURER.

INSTALLATION ANCHOR CAPACITIES FOR PRODUCTS HEREIN ARE

BASED ON SUBSTRATE MATERIALS WITH THE FOLLOWING

PROPERTIES:

A, WOOD - MiNIMUM SPECIFIC GRAVITY OF 0.55,

B. STEEL - MINIMUM YIELD STRENGTH OF 33 KSI. MINIMUM
WALL THICKNESS OF 0.033 MILS. (20 GAUGE).

YKK AP AMERICA

STYLEVIEW VINYL HORIZONTAL SLIDING

GENERAL NOTES:

1

[

w

=

w

-

THE PRODUCT SHOWN HEREIN IS DESIGNED AND
MANUFACTURED TO COMPLY WITH THE CURRENT EDITION
FLORIDA BUILDING CODE (FBC), EXCLUDING HVHZ AND HAS
BEEN EVALUATED ACCORDING TO THE FOLLOWING:
AAMASWDMA/SCSA 101/1.5.2/A440-05/11

ASTM E330-02

ASTM E283-04

ASTM E547-00

ASTM F588-04

. ADEQUACY OF THE EXISTING STRUCTURAL

CONCRETE/MASONRY, 2X FRAMING AND METAL STUD
FRAMING AS A MAIN WIND FORCE RESISTING SYSTEM CAPABLE
OF WITHSTANDING AND TRANSFERRING APPLIED brODUCT
LOADS TO THE FOUNDATION IS THE RESPONSIBILITY OF THE
ENGINEER OR ARCHITECT OF RECORD FOR THE PROJECT OF
INSTALLATION,

. 2% BUCKS (WHEN USED) SHALL BE DESIGNED AND ANCHORED

TO PROPERLY TRANSFER ALL LOADS TO THE STRUCTURE, BUCK
DESIGN AND INSTALLATION 15 THE RESPONSIBILITY OF THE
ENGINEER OR ARCHITECT OF RECORD FOR THE PREJECT OF
INSTALLATION,

. THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERIC

AND MAY NGT REFLECT ACTUAL CONDITIONS FOR A SPECIFIC
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT, DOCUMENTS
SHALL BE APPROVED BY AUTHORITY HAVING JURISDICTION
(AHY).

. APPROVED IMPACT PROTECTIVE SYSTEM IS REQUIRED ON THIS

PRODUCT IN AREAS REQUIRING IMPACT RESISTANCE,

. WINDOW FRAME MATERIAL: PVC

- DESIGNATIONS “X" AND "0" STAND FOR THE FOLLOWING:

X: OPERABLE PANEL
0: FIXED PANEL

. GLAZING SHALL MEET ASTM E1300 REQUIREMENTS, SEE SHEET

4 FOR GLAZING DETAILS.

YKl
ap
: | nspires

VK AP AMERICA RESTOENTIAL
270 Riverside 1, Sihe A
Auatell, 54 30168
WINDOWS i
w @ B
TN
>4 3 fod
g3 gan 8
i § ST &
e % - A5S
TABLE OF CONTENTS wg z s 2 93
SHEET [REVISION SHEET DESCRIPTION g E g & g g H
3 = 2
1 A INSTALLATION & GENERAL NOTES i = g § 3 g i
2 A ELEVATION & ANCHOR LAYOUT IE g g E ;
3 A VERTICAL SECTIONS =
4 A HORIZONTAL SECTIONS & GLAZING DETAILS P E
3|8
z 13
2
UNIT DIMENSIONS 8 5 ,@
sl I-]
CONFIGURATION | DESIGNPRESSURE |  MAXIMUM SIZE “"155;;5 IMPACT § E g
X0 +40 / -40 psF 715" (W) X 59.5" (H) | NON-IMPACT Y] g g
o) 810
XOX +35/-38psF  |107.5" (W) X 595" (H)| NON-IMPACT

RO T

DWG #:
Digitally signed by Hermes F. Norero, P.E. y K Kl 2 8
Reason: | am approving this document SHEET.
Date: 2016.08,24 15:24:26 -04'00' ) 1 OF 4




BAATITAME D136 AM

e i o omy

etk op amarsca, ine fbe- 160844 fbe subminal -

TL5" MAX.
FRAME —————=
WIDTH

© D

59.5" MAX, ﬁ’

FRAME e wge

HERRT | (BN F (&N

55" 4 f 4/
MAXDLO W

HETGHT | /ﬁ/ - ﬁ({

|

324"
= MAX. DLO =~
WIDTH

TYPICAL ELEVATION

XX UNIT

107.5" MAX.
FRAME WIDTH

33 1/18"
MAX. DLO =
WIDTH

S,

59.5" MAX.
FRAME

<p

HT
HETG! ; —I % s ” I

54 7/8"
MAX DLO

& D)
3

HELIGHT
TYPICAL ELEVATION

XOX UNIT

315" MAX,
FROM

CORNERS O.C. SPACING

335" MAX, *

B MAX,

FROM

CORNERS

8" MAX,
0.C. SPACING

31" MAX.
FROM

CORNERS  0.C. SPACING

] |

8" MAX.

ANCHOR LAYOUT

NAILING FIN

(2) ADDITIONAL INSTALLATION
- ANCHORS AT MEETING STILES
3" O.C. TO EA. SIDE OF MEETING STILE

| INSTALLATION
i ANCHOR

—{2) ADDITIONAL INSTALLATION

ANCHORS AT MEETING STILES
34" O.C. TO EA. SIDE OF MEETING STILE

35" MAX. ‘

FROM
CORNERS

8" MAX.

0c. SPACING-'—

4

e

il 4

d d

'/INSTALLATION
g ANCHOR

0

ANCHOR LAYOUT

NAILING FIN

apfﬂunlity
|inspires
YEE AP .IMIE.IIIC"’.ES!D(N'H:L
O e oA olin
PH: (578) 8386000 x60860
a2 B
&2 a 5
E ;
88, 258 %
B2 Eé van °
W 61'3_ =
i%%ﬁ E33
"8 adls 258 ¢
TEFIg RER s
(i E < aﬁgg
E © [fos -
-0
© |3
e
4
v
= o]
2z |2
S
|83

SHEER 2 OF 4




BIT/R000 10:36 AN,

44 fixc mlenet ol

ap emerica, el

-
EMBEDMENT
CAULK BETWEEN . ; s
CONCRETE/ MASONRY & 2X Wl gt | T L e e T
WOOD BUCK BY OTHERS {4 ‘a Y iR
2X WOOD BUCK o N P,
BY OTHERS % /4" MIN.
#8 WOOD SCREW R o EDGE DIST.
INSTALLATION ANCHOR e |_
EXTERIOR FINISH i T
BY OTHERS - =
SILICONE _/ || 14" max.
SEALANT SHIM SPACE
By QTHERS
] SEE GLAZING
OA 3 = \ DETAIL SHEET 4
UNIT { T .
HEIGHT £\ |
1
EXTERIOR { INTERIOR
1 A
= S S | E—
@ SASH HEAD - 2X WOOD BUCK
NAILING FIN
l EXTERIOR INTERIOR
uii?i' SEE GLAZING
i DETAIL SHEET 4
SILICONE
SEALANT .
1/4" MAX,
BY OTHERS SHIM SPACE
#8 TEK SCREW = |
INSTALLATION ANCHOR e
EXTERIOR FINISH 3/4° MIN.
8Y OTHERS i EDGE OFST:
METAL STUD BY OTHERS, N
SEE SHEET 1 INSTALLATION 3 THREADS MIN,
NOTE 9 — PENETRATION BEYOND
METAL STRUCTURE

A\ VERTICAL SECTION

3 SASH SILL - METAL STUD
NAILING FIN

COMCRETE/ MASONRY

11/2" WIN,
BY OTHERS EMBEDMENT
CAULK BETWEEN . . .
CONCRETE/ MASONRY & 2X i e RPETE RS
WOOD BUCK BY OTHERS ] I 4. 3.5
2X WOOD BUCK ] e e
BY OTHERS e
3/4" MIN,
#8 WOOD SCREW——| — EDGE DIST,
INSTALLATION ANCHOR y r
EXTERIOR FINISH A o ]
Y OTHERS ! —+
SILICONE_/ o 174" MAX,
SEALANT T SHIM SPACE
BY OTHERS : \ SEE GLAZING
£ -— DETAIL SHEET 4
0A. \ /
UNIT N 4
HEIGHT 117
EXTERIOR INTERIOR
e i
/
\y FIXED HEAD - 2X WOOD BUCK
SN
EXTERIOR INTERIOR
0.A. -,
UNIT / A\ gggrf}f gl[-rhslg'r 4
HEIGHT [ il
SILICONE \ Jl
SEALANT i
174" MAX.
8y omsns\ (" E SHIM SPACE
78 TER SCREW——F - - - 3 -
INSTALLATION ANCHOR
EXTERIOR FINIS 3/4° MIN,
BY OTHERS EDGE DIST.
METAL STUD BY OTHERS,

SEE SHEET 1 INSTALLATION

3 THREADS MIN,

NOTE 9 —| ~——— PENETRATION BEYOND
METAL STRUCTURE
/D VERTICAL SECTION
Q/) FIXED §ILL - METAL STUD
NAILING FIN

RULLLLI T T

YHK
ap | Quality
| inspires

VEE AP AMERTCA RESIDENTIAL
270 Riverside Parkway, Suite A

i oy A 4000 R0
& 8 8
CHEHE
B2k m‘a&"‘{i
gt ¥ | B3 &
ER 8|, 2:8
85 [& 25% 8
B TR
Ly < 2ud i
|E $58 .
z
E
V)
Z
. Is
0lE =
HE
[a'4 =) 9

SHEET: 3 OF 4




BAIT/2006 1186 AN,

\projecteykk op smerica, inc{be- 16 D4 fisc mbemtal - precedonce

YKK

- 3/4" MIN. 5 .
CONCRETE/ MASONRY N ! L 3/4" MIN. | Quali
BY OTHERS <7 EDGE DISTANCE INTERIOR EDGE DISTANCE A inspi‘rgs
N i 1/4" MAX. o
CAULK BETWEEN - . 1/4" MAX. , e —| L VKK AP AMERICA RESIDENTIAL
-~ SHIM SPACE
CONCRETE/ MASONRY & 2X ¥ SHIM SPACE SEE GLAZING SEE GLAZING INTERIOR . B adde #8 TEK SCREW imn-nnraler me.ss.m A
WOOD BUCK BY OTHERS < /— DETAIL SHEET 4 /‘ DETAIL SHEET 4 INSTALLATION ANCHOR o (478} 4400 WD
o . | A E1.5033 SEE 6LAZING 3 THREADS MIN. @
J—% T, b DETAIL SHEET 4 PENETRATION BEYOND % ; § g
11/4% MIN. v, . X | [ METAL STRUCTURE E g zgé £
EMBEDMENT | b g | el E';:Eg wan g
S | | P a g
N / wkw iy ogn &
o r 57T =8 B | i
A i : b ..
ke L wernsomoness, | 7888 258 ¢
3 S DtD T SER SHEET 1 INSTALLATION 283 5 03‘5‘ 2
#8 WOOD SCREW el =] SILICQNE__/ oo NOTE 9 . il Q < pard
INSTALLAYION ANCHOR - f":":" SEALANT SEALANT fih 22 20X 8
9 OVHERS: EXTERIOR $y OTiERE XTERTOR FINISH ! % 8 &
EXTERIOR FINISH EXTERIOR BY OTHERS -
BY OTHERS 0.A, m 0A. tw 2
UNIT — -~ UNIT < |3
WIDTH WIDTH als
-
2
) 2
w
z
/E HORIZONTAL SECTION HORIZONTAL SECTION /G \HORIZONTAL SECTION ?) ) é
\&/ SASH JAMSB - 2X WOOD BUCK 4 MEETING STILES \4_/ FIXED JAMB - METAL STUD a
NAILING FIN NAILING FIN g ) g
wi g x
(a4 B I
3/4" 0.A. INSULATED GLASS:
3/16" ANNEALED GLASS
LOCK STILE REINFORCEMENT ATTACHMENT TO FRAME EXTENSION: B 3/8" AIR SPACE .
USE TWO (2) #8 X 2" STAINLESS STEEL FLAT HEAD SMS (ONE 3/16" ANNEALED 6LASS % If'
ANCHOR AT EACH END, 2° FROM EACH INSIDE CORNER) INSTALL e 7
THROUGH THE EXTRUSION BEHIND THE GLAZING POCKET EXTERIOR A INTERIOR \\\\‘?_0 * Ha% "W
FIXED MEETING STILE REINFORCEMENT ATTACHMENT TO FRAME 2 B R o e,
EXTENSION: USE FOUR (4) #8 X 2 STAINLESS STEEL PAN HEAD / . \ 3 A
5MS W/ 378" WASHERS (TWO ANCHOR AT HEAD AND TWO ANCHOR / |- \ i g
AT SILL) ACCESS HOLE SHALL BE SEALED WITH WINDOW TAPE, [ i | v 1/2" 0A, = tu
ol ||| | 6LASS BITE, TYP. =
/ Y 1'5 S
3/8" RETNFORCED \L a3
BUTYL SPACER i TREMSIL 600 ’fz,ﬂ ¥ P"%\\“!
= SILTICONE SEALANT Lerrrrres
= i NOTE: ] 2 1a <|&z o )
GLASS THICKNESS AND TYPE 15 8 g Glek é 5
G ETAIL SHALL COMPLY WITH ASTM E 5|3 [s]
M_ 1300 REQUIREMENT GLASS SWE
CHARTS. yKK128
SHEET: 4 OF 4




